[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ettic

1.0

Ratio

o -4+ -4 POUTE D . 4+ 4 4.

R L AR RN RN RN AR RRRS AR LA RRRAN ARRRN LRRR

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_baseline
Efficiend —— pom_v0001_R000000001__ Global__mkFit_ BASELINE-2

~ 0.5
T S R P R

o F : : : . ,
20 s
> F . . . . H

8 E N . H H H
L R IS St s S
3} E : : : :

R R Aereers NN S B
(] = .

Y
02wt b
e e T e T S

0.15— ------ ..... H++ ...... ....... Jf ....... .......

0.05¢ ++++++ """" T

Vs

th. ..

Ratio

10 20 30
TP vert z (cm)

o
15
o
o
|
o
[
=
o
o

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
20.35
0.3
o
£0.25
5}
0.2
0.15
0.1

0.05f
P AP FUUTE FUUUE DTN PR DR T P

lency

FRVS)

Ratio

._.
T

05215 -10 =5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


